
  
 

ASSEMBLY INSTRUCTIONS 
 

MODEL# : 7430 / 7431 / 7432 (02/2014) (V#47ZMI1) 
 

NOTE:  THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE 
KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED 

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! ! 
                       

№ DESCRIPTION Q’TY № DESCRIPTION Q’TY 
A TABLE TOP 30-1/2” X 24” X 6-1/4” 1PC J BOLT 1/4” DIA X 1/2” 12PCS 
B LEG 31-3/4” X 2-3/8” X 2-3/8” 4PCS K LOCK WASHER            5/16” x 13mm 8PCS 
C MIDDLE SHELF 26-1/2” X 20” X 5/8” 1PC L LOCK WASHER            1/4” x 9mm 12PCS 
D BOTTOM SHELF 30-1/2” X 24” X 7/8’ 1PC M FLAT WASHER 5/16” x 19mm 8PCS 
E CASTER 3”DIA X4-3/4” 4PCS N FLAT WASHER 1/4” x 9mm 12PCS 
F WINE HOLDER 5-1/2” X23-1/2” 2PCS O ALLEN KEY 5/16” DIA 1PC 
G HOOK 6MMX 8” 2PCS P ALLEN KEY 1/4” DIA 1PC 
H BRACKET 18MMx22MMx30MM 4PCS Q ALLEN WRENCH 14MM 1PC 
I BOLT           5/16” DIA X 2” 8PCS     

 
 
 

 
 
 
 
 

 
 

 

NOTE: THIS ITEM INCLUDES A GENUINE MARBLE SURFACE.  BEING A NATURAL PRODUCT, COLOR VARIATIONS ARE TO BE EXPECTED. 
MARBLE TOP MAINTENANCE: MARBLE IS POROUS AND CAN STAIN EASILY.  TO HELP PREVENT STAINS, IT IS RECOMMENDED TO SEAL 
THE MARBLE SURFACE FIRST BEFORE YOU USE IT.  A GOOD QUALITY STONE SEALER CAN BE PURCHASED FROM ANY TILE / STONE 
STORE OR HOMECARE STORE AND SHOULD BE APPLIED ACCORDING TO THE MANUFACTURER’S RECOMMENDATION.  RE-SEAL THE 
MARBLE SURFACE ON A REGULAR BASIS (EVERY 6 TO 12 MONTHS).  AFTER SEALING, CLEAN WITH WARM WATER.  TO PRESERVE ITS 
APPEARANCE, AVOID SCRUBBING, CUTTING OR PLACING HOT ITEMS DIRECTLY ON THE SURFACE. 


	NOTE:  THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE

	DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !


